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OPTION=-1
Paper : BCO-RE-5026
( Money and Banking )

1. Answer any ten of the following as directed :
1%10=10

oS R @ coren webra of wepid e i

(a) “Money is what money does.” Who said
this?
‘et R o ol E T FARE I
(e 9

(b) What is token money?
A0 Y 0

(0 What does V signify in Fisher’s
equation?

g RS & V @ R P2
(d) Fill up the gap :

e SR oA ]I
M1=C+DD+ .

(¢) What is meant by money market?
PEE R RICREE G
() What is the full form of NBFIs?
NBFIs 3 3o 99 &7
(g) Define adverse selection.
fet fafioe st f |
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(W Mention any one instrument of capital

market.

@@m«ﬁ@maﬁwﬁﬂﬁmﬁm

ange is 2 market where
nds are bought and sold.
( Write true or false )

(i) Stock exch
shares and bo

o RO @ T G @ T T WG

o 99 FI-RE FN |
(37 7 ST ford )

() When was the National Stock Exchange
of India established?

sRes I8N 23 R @oT TF 39
et ? |

(k) Name one economist who had forwarded
the classical theory of interest.

WWWWW@WW@WW
foran |

() What is liquidity preference?
e AfS 62

(m) What is liquidity trap?
e Fle 7

(n) Define prime lending rate.
A4 4 A e e |
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(o) What is meant by portfolio management
of commercial bank?

AT @ AGqUR ARvREE e [ 3T ?
(p) Which is the first nationalised bank in
_India?
SRS AW ABRFO RF (FCH! ?
(@ Mention one limitation of monetary
policy.
Tfus ST 9ot KRz SE 741 |
() What is the name of central bank of
India?
SAOT (FH [FOR W &2

2. Answer any five questions of the following :
2x5=10

TS gl SpcaRd R R b e fie -

(a) Mention two functions of money.

@R 701 I TeEy 791 |

(b) Write two sources of change in money
supply in India.

SAwS WA Q@A ~fRT6Aa 161 e AW fora |

(c) Write two differences of money market
and capital market.

U1 TG F AL TR TGS A o1 N4
fern 1
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(d) Mention two importances of money
market.

T TR 1 4G BEy 9 |
(e) Write name of two indices that shows
index of stock market of India.

TR 33 I IPIE A T o1 AP
I o

() Mention two causes of difference of rate
of interest.

rd W ANLF R 761 I SCEL 91 |

(g9 Write two limitations of loanable fund
theory of interest.

TR AT *[fErogd o1 el forg |

Mention two names of institution that
relates to financial system.

R Ta e wfbe 1 S W Sy
01

(h

() Write two main functions of central |
bank.

R R 7 T I Bt |
() Mention two objectives of India’s current
monetary policy.

W?@ﬁ@m?ﬁ%ﬁ@xmm
0

i ( Continued )




(13 )

3. Answer any four of the following questions :
5x4=20

oo il 2R R @ien vt Tes faan

(@) Write a short note on different concept
- of money supply in India.

CHYS [N QW w4 Rfen g
82 «fb 55 (BT forar |

(b) Mention any five determinants that
affect money supply.

TTE @E geiks 91 & ¢@iear «ivol e
N TEy 90

(c) What are the main functions of financial
market?

8 I Y FRER B 2

(d) Discuss briefly the differences of
monetary and non-monetary assets.

M o o-CAfeF APTrenEy Tee 2=
ALFICAIT ST ST 7 |

(e) Write a note on the advantages and dis-
advantages of asymmetric information.

P AR R S SR TIem «fo
Cor ford |

(/)  What are the main objectives of credit
control of central bank of a country?
4 O (FER R 49 R & TR
R
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Mention the limitations of open market

operation.
cqren qure fapur Swraweicare Soe ¥4

(@)

() What are the roles of monetary policy
in a developing economy? Discuss.

s sefde (Nfie T shwrnz @9
WA 391 |

4. Answer any four of the following questions :
10x4=40

were e oprard R e wifRbR Tee

fa) What is financial system? What are
the roles of financial system in

economic development of a country?
Explain in detail. 3+7=10

% wwm 2 9@ PR INART T
R el @ R om0, Regeea
e 397 |

(b) Explain the cash balance approach to
quantity theory of money. What are the
limitations of this approach? 7+3=10

TEA ARTTOGA Ao o A AR qEech
F | % YA S & R0
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() Discuss in detail the liquidity preference
theory of rate of interest.

T3 SRS TGB! T2 a2

(d) What is meant by term-structure of
interest rate? Explain the expectation

theory of term-structure of interest
rate.

| 2+8=10
g -o1ef S =T T & 2 ST-oiief @ 2w
JRS NS SGLo! M T4 |

(e) Explain the credit creation method
of commercial bank. Mention three
determinants that limit the powers of
credit creation of commercial bank.

7+3=10

IMME I AP RS M ]
MR @ 4P Toe Nfve 41 fofH6r
IS SCEd 30 |

() Write a note on different components of
structure of banking system in India.

SRSy [T TN o Rfen SammeRs
sgcn < ft GG o |

(g Explain in detail the reforms initiative
of financial market in liberalisation
period.

TRAFIR TS SR Ry @S S+l
FCFACIN TR AL 0T F0
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() What are the main functions of

central bank of a country? Why is
central bank called lender of last
resort? 7+3=10

G (PR RN QW T INER B 2
@R @FF TR R SWeEEE I 9
I ?

() Write a note on portfolio management
of a commercial bank. How does
banking reforms of India help in
portfolio management process of
a commercial bank? 6+4=10

MR @ AR Ao SIem @ Gl
| SRR RE AR Tafor@ TS
RFF AGIER TS e =T IR ?

() What is bank rate? How does bank
rate affect credit creation scenario of
an economy? What are the limitations
of this measure to control credit?

2+6+2=10
AT W R @A TA @ WA 99
I SRER R aeRe 3@ 99 IR
g 10 @2 TR SaRTeEE & R 9
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. 1. Answer the following questions (any ten) :
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OPTION—C
Paper : ECO-RE-5036

( Environmental Economics )

1x10=10

o 2T eq faan (R e wedt)

(a)

(b)

(c)

(d)

A23/361

What is ecology?
ey &2

What is market failure?
oS Reaer [$2

Mention one character of public good.

qoedl TI9 9b1 (M8 TeEd 91 |

What is meant by environment?

of e WA & 3@ 2

Define sustainable development.

oy S K e |

State one feature of common property
resource.

R Foowd o1 (3B TrEe T
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v

(i)

)

(%)

)

(m)

(n)

(o)
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What is free rider problem?
& SRR e %2

Define marginal social cost.

oAifeT I IFT e el |

What is meant by command and control

method?

e S g rafe e [ | 2

What is liability law?
RSl Sz & 7

What is meant by green GDP?
&% GDP I+ & 387 ?

Give the concept of global warming.

(oI TReor AIREITCo! i |
What is biodiversity?
Ceatada 6 2

Name one greenhouse gas.

Ry GO (o1 N fora |

What is ozone layer depletion?

&g BT ST [ ?
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State one global environmental problem. |

- (TR SRR 91 ST SeEy 34 |

@

What is optimal level of pollution?
0 oEY W 2

() Write one objective of environmental
economics.
AT YA b1 T for |
2. Answer the following questions in short
(any five) : 2x5=10
e PPiRd 5y Ted fuw (R cren #Aivd)
(a) Give two examples of negative
externalities.
AT ARFFOR 11 Tz et |
(b) Mention two causes of climate change.
STy ARTETE 7B1 PR TEd 90 |
(c) Define the point of Pareto optimality in
case of public goods.
e TI{ CHS A6’ I REOR e
e o -
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(d) What is Pigouvian tax?
fres 79 37 62

(e) State any two components of
sustainable development.

T T R I 11 Some Sead 41 |

() Distinguish between strong and weak
sustainability.

PR WF o IZTRIOR TS A4 Aef
0

(g9 Give two reasons of decline in
biodiversity.

veRtafbars e 5 e 74 |

(h) State two problems created by solid
wastes.

CoNTGT SRR 12 31 o1 P01 Sead 41 |

() Give two reasons of ozone layer
depletion.

T B SR Yo PR @

() Why is biodiversity important?
ceafoa o wwgey 2
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3. Answer the following questions (any foun :

mem(ﬁmnﬁm

(@)

(b)

(d)

(e)

A23/361

S5x4=20

Explain the biotic elements of
environment.

AR CaR Stz e =1 |

Point out the positive and negative
effects of development on environment.

T AR@R SRS R IR O
YIRS ASRPTR Sgforai i |

Explain the characteristics of common
property rights.

e S=eifeq SRR CIRBPTR 1 9 |

Discuss the process of internalising
externalities through government
intervention.

W@Wﬁawmﬁe}rﬁwsquﬁﬁm
ST F41 |

Write a note on market-based methods
of pollution control.

2 frEeR 1T TETe-fefes orafer e
<51 O o |

( Turn Over )



(22)

() What is transboundary environmental
problem? Explain its various causes.
1+4=5

weie AR e [ TR Rfew
PP TR 1 |

() Explain the various effects of climate
change.

Ty <SR RS eeerz 4 3411

(h) Briefly explain the major
environmental protection activities
undertaken in India.

AR PR I SO A T GFeYd
FRRA TSI SO 4 |

4. Answer the following questions (any four) :
10x4=40
oo e e i (R e wif|er)

(a) Discuss  diagrammatically  Pareto
optimality of public goods.

I TR 16’ FIro! PR AZTS A
|

(b) Explain the environmental impact of
industrial activities with example. 8+2=10

Tom-Ree Teom FRITAR AR ke
oS TAIRIAPTZ T 1 |
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(c) What

is pollution permit
Discus

S different steps
Pollution permit system,

system?
involved in

2+8=10

(d) Discuss cost-benefit analysis  of
environmental Policies and regulations.

ﬂﬁmfﬂ%wﬁmmwm
Resmer e w7 |

(e) What is environment impact
assessment? Discuss the process of
environment impact assessment. 2+8=10

wﬁmmwmﬁ?mmm
TRfSCB! AT 1 |

() Write a note on indicators of sustainable
development.

TR TR SR SRS <GB Gl o |

(9) Discuss sustainable development from
Indian perspective.

SR (TGS I TG SIS 4T |
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(h) What are non-market goods and
e various processes

services? Explain th
of valuation of non-market goods and
2+8=10

services.

SAEA A €
qF CIRAPTR WW 4l
CZ I

oz 2 SRE[d A
fRfeH “TafeTR I

brium between demand for
of public goods fails to
» Discuss the

(i) “The equili
and supply
satisfy allocative efficiency.

statement.

<qrerEq] AR IR AIE QR ST
S el wq F© AR 4l
scasal 391 |

Discuss the nature and subject matter

of environmental economics.

A ST AFfe AF RYERE  CEAv
341 |

()

* %k *k
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